842ear Mirtillo Earmuffs

_ Suggested yarn:
(o i N * Pierrot Yarns Mirtillo [57% acrylic, 35% wool, 8% nylon; 137 yds/125m per 1.8 0z./
&.2 ? § YR | ;‘} ‘ 509 skein]; color #01, 1 skein [50g]
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* Please see schematics.
Gauge (10cm/4" square):
« pattern stitch: 13 sts and 12 rows
Gauge may vary according to individual crochet style. Change hook size if necessary to
achieve gauge. Alternatively, rework pattern with your own gauge measurements.
Summary

*%Note: Like all Japanese patterns, stitch counts given here for foundation chains do not include any chain sts needed for
turning posts.

Body of earwarmer: Work foundation chain to begin, then work in pattern stitch.

Ear covers: Work magic ring to begin, then work in the round, increasing as indicated. Make 2 outer earflap pieces and 2
inner earflap pieces.

Tie (make 2): Work magic ring to begin, then crochet motif in the round and bind off. Work foundation chain to begin tab
piece, then crochet tab piece in dc per schematic. Attach tab piece to motif as shown in schematic.

Finishing: Seam each end of body piece to wrong side of one outer earflap using whipstitch. Seam tab end of each tie to
wrong side of each outer earflap using whipstitch. Seam inner earflap on top of outer earflap with right side of inner earflap
facing you.

Abbreviations:

ch =chain

dc = double crochet (US)

fp = front post

hdc = half double crochet (US)
m = magic ring/circle

sc = single crochet (US)
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Earflap (make 2 of each)
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@ Crochet motif. ~ 4 rounds
@ Crochet the tab piece in dc.
3 After the tab piece, work a chain and then work 1 round of sc around motif.
@ Work slip stitch into back loops of chain.
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Sew body and ties to wrong side of outer earflap pieces using whipstitch.
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Sew inner earflap pieces on top of outer earflap pieces with RS facing you.
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